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How many roots do the functions have in common?

flz)=2-82+16

& f and g share the same roots}.

© f and g share one root in commor: but each have another root that is not
shared. ' ‘

O f and g share no roots in common.

8. Describe each of the following function:

7-How many roots do the functions have in common?

flz) = (3%-2){x-10)

3 f and g share the same root(s).

o f and g share one root in commor: but each have another
root that is not  shared.

o - -
%4 ¥ and g share no roots in common.

F(x) =-2(x-3)2+18 openg , vertex ,yint , Xint , A0S
min or max
open , vertex ,yint ,
xint , aos

min or max



